My = 2HO "9 Mg = A0 “"’) M, =235

Gio = (8 8, By (15)2 4, Bw=0, €-a5
Cl) A mD C T B AT THE SpamE TIME

YWD Usar , Ver | U

T = i:ﬂ’iiﬁi

©
-y =t

g Sy =X s L ¥
MA\);W + MB/\I@; MO = My Uar + MgUgp + Me Ucr

¢

(‘7}(0)/'2«) F(235)-105) = 240 Ury +260Vsr +235 Ver
240 Oax + 260 Upy +2305UZF = |27 %

Ugy = Uy = € ( Uko 7(%,)

Uss = Uav + (0.3 )2) = U:%F + 6

Vs ~ Vg = € (Veo - }Jgo)

VUer = Vg +12 = (Upp +16) + 1.2 = Uk + 2.3

240 Uxy +260(Ure +16) + 235 (Vax +2.6) = (27,5
UA?—' = _[|2\%?5 %
Use = (<1295 ) +16 = 0.3(22 & —

M

Uex = (03022) +1,2 = |,5(z § —
b) HuD VEOUTIES ¥ A Wwrs B befole C poes

A W B j’j’\y”‘

| —o o]




PRIB, 14-7 copT.

WMaUro = My Uny + Ms Usy
(2‘-{0>(?~> :(Mo) Uac + (1@0)0};
240 Upp + 260 Uge = 450

Uss ~ Ung = € (Vo )()Eo>
Usy = Uz +(0.5)(2) = Unr +16

240 Uny uw(uﬂ ‘f’/é) 450

/b?’c\ = 0!2‘6’ 7

Use = (0 I?.‘d) 1, é[ (77.%/__ 5 *'"?’J
e &8 U Ve

B s C: g | !M

Mg Ugo + Mc I, = Mg Ugp + Me Uce
(260X 1.72%) + (235 )~1,5) r@éo) Usr + (235 ) Uer
260 OpF + 235 Ly = 96,73
Uge ~ Uy =€ UZO-—U%D

Uy = Ues + 0.5L(-15) - (1.72%)]
Vgr = Uy - 2.592

260 (Ver -2.952) 4235 Uex = 96,79

ZELV = |§52— sﬂ—-rl

—

Uy = (l%y) RSP L —03 Y *-’l




l l

P08, 14-7 covT SRS UM
B G A peaN: L /

][]

Ma Uxo + Me Uo = Wia Upe + W Ugr

(240)(0,128) + (260)~1.03) = (240) oy + (260) Uy
240 Upy + 260Usy =-237,)

U -~ Uae = € (Uno = V30 )

Uss = Uy + (0,%)] (0112%) - (-1.03)( = Uz +0.9264
240 Ung %%O(U‘;_+_(_O?,2éﬁf> =-237,]

[U’-A\« =-0 ?75?

e — e

i

Ugy = (’(9.‘77{?) %ﬁ,72é7/=—0.02‘2{3 ff;l«——\

NO moPe  coliisipls




